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NO.50 Which of the following actions is the FINAL step in the standard troubleshooting methodology?

*  Document the solution and cause.

*  Create a new theory of cause.

*  Research the problem online.

*  Implement preventive measures.

Explanation/Reference:

NO.51 Which of the following is a wireless communication that requires devices to be within 6in of each other to transfer

information?

*  Infrared

*  NFC

*  Bluetooth

*  WiFi

NO.52 A small company wants to set up a server that is accessible from the company network as well as the Internet.
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Which of the following is MOST important to determine before allowing employees to access the server remotely?

*  The quality of the computer used to connect

*  A security method of allowing connections

*  The employees&#8217; home ISP speeds

*  The geographical location of the employees

Explanation/Reference:

NO.53 All users have access to an application at a company. The data from the application is stored on a centralized device located

on the network. Which of the following devices would MOST likely be used to store the data?

*  Server

*  Tape library

*  External HDD

*  Workstation

NO.54 An end user&#8217;s computer has been failing to open its word processing software. An IT technician successfully solves

the problem. Which of the following best describes the technician&#8217;s NEXT step?

*  Restart the computer.

*  Contact other users.

*  Disconnect the peripherals.

*  Document the findings.

NO.55 Given the following pseudocode:

 

 

Which of the following is the output of the code?

*  1

*  9

*  10

*  11

NO.56 Which of the following describes something in a database that refers to the unique identifier in the parent table?

*  Attribute

*  Constraint

*  Foreign key

*  Schema

NO.57 A technician is troubleshooting an error message and tests the same program on a separate, identical machine. Which of the

following troubleshooting methodology steps is this an example of?

*  Duplicate the problem

*  Gather information

*  Optical
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*  Divide and conquer

NO.58 Which of the following BEST describes a kilobyte?

*  A kilobyte is a measurement of storage (e.g., 100KB).

*  A kilobyte is a measurement of throughput (e.g.,100Kbps).

*  A kilobyte is a measurement of power (e.g., 100KW).

*  A kilobyte is a measurement of processor speed (e.g., 2.4KHz).

NO.59 Which of the following BEST explains the use of float over integer to store monetary values?

*  It accepts negative values.

*  It stores symbols

*  It accommodates larger values.

*  It supports decimals.

NO.60 A user is buying a laptop. The user will have a lot of personal and confidential information on the laptop.

The user wants to ensure data cannot be accessed by anyone, even if the laptop is stolen. Which of the following should be set up to

accomplish this?

*  Encryption

*  Compression

*  Permissions

*  Auditing

NO.61 Which of the following data types should a developer use when creating a variable to hold a postal code?

*  Integer

*  String

*  Float

*  Boolean

NO.62 Which of the following security concerns is a threat to confidentiality?

*  Replay attack

*  Denial of service

*  Service outage

*  Dumpster diving

NO.63 Which of the following is a reason why complex passwords are required?

*  To encourage password variety

*  To prevent someone from guessing them

*  To make them harder to remember

*  To reduce social engineering attacks

NO.64 A technician is troubleshooting a problem. The technician tests the theory and determines the theory is confirmed. Which of

the following should be the technician&#8217;s NEXT step?

*  Implement the solution.

*  Document lessons learned.

*  Establish a plan of action.

*  Verify full system functionality.

NO.65 Which of the following statements BEST describes binary?

*  A notational system used to represent an &#8220;on&#8221; or &#8220;off&#8221; state
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*  A notational system used to represent media access control

*  A notational system used to represent Internet protocol addressing

*  A notational system used to represent a storage unit of measurement
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